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Bias
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Definitions
Response Bias
• When respondents change their answers to influence the 
results, to avoid embarrassment, or to give the answer they 
think the questioner wants

Sampling Bias
• When the sample does not closely represent the population

Measurement Bias
• When the collection method is such that the characteristics 
are consistently over­ or under­represented

Non­Response Bias
• When the opinions of respondents differ in meaningful 
ways from those of non­respondents
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a) Response bias ­ families are likely to start to eat better if they 
are being monitored.

b) Sampling bias ­ students on the sports teams are more likely to 
suggest spending the money on sports related things.

c) Measurement bias ­ there are only two options.

d) Non­repsonse bias ­ only people who have a strong opinion 
tend to call in. Most people don't bother. So in that respect, it is 
also an example of sampling bias as most of the population are 
unrepresented.
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a) Response bias ­ people are likely to give a high number to give 
a good impression.

b) Sampling bias ­ the survey is only sent to parents of school age 
children and they are likely to be in favour of this idea.

c) Non­response bias ­ generally only people with extreme views 
will respond to this.

d) Measurement bias ­ this is a leading question.

a) The tweet is highly unlikely to be 
true. This should have been fact 
checked before being published.

b) The validity of this survey is 
questionable: 1) The Cheese 
Board are funding it and 2) How do 
you quantify a nightmare?

c) A bar graph would have been 
better to allow the reader to 
compare the different colours:

e) We need to know more information 
about the actual prevalence of this 
type of cancer. If about 5 in 100 have 
it, then a 20% increase, which 
sounds a lot, means we now have 6 
in 100, which doesn't sound as bad.

d) The percentages add up to 
120%, so something is wrong.
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a) The graph gives the impression of a linear relation, but the 
"rises" are different and the "runs" are different. There should be 
consistent gaps to represent time as well as a scale on the y­axis.

b) The unemployment is dropping, but because there are numbers 
missing on the y­axis it makes it appear that it is dropping quicker 
than it actually is. If the vertical scale started at zero, you would see 
this more accurately. Also, there is no drop from Sept to Oct.

c) This may be true, but it can not be verified that it was due to the 
customers eating the yogurt. Also there is no data on how much 
was lost, if those surveyed were on a strict diet or if they had 
increased their amount of exercise being taken.

a) Whilst $52.5 million may seem like a large amount for a 
settlement, it only works out at $54.12 per household. 
(52,500,000 ÷ 970,000)

b) 82,000,000 ÷ 8,000,000 = 10.25 kg per person, per year.

A bar is about 50g, so that is 10250 ÷ 50 = 205 bars per year.

This works out to be 205 ÷ 52 = 3.94 bars/week.

For someone who rarely eats chocolate, this would seem like a lot, 

but for someone who eats it everyday, it probably wouldn't.
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a) In 2011 there are about 138 million households in the USA and 
13 million in Canada.

Spend per household = $8,000,000,000 ÷ 151,000,000 = $52.98

To those in Canada and the USA this won't sound like very much 
but those who don't celebrate Halloween, it might sound like a 
waste of money.

b) Using data found from an internet search, Apple's gross profit 
in 2010 was $25.684 billion. In 2011 it was $43.818 billion.

In terms of a percentage increase = (43.818 ­ 25.684) ÷ 25.684

  = 70.6%

In this case, a $19 billion increase in profit is significant.

https://www.msn.com/en­us/money/news/how­much­did­americans­spend­on­
halloween­in­2019/ar­AAJG3vL

https://www.macrotrends.net/stocks/charts/AAPL/apple/gross­profit

a) Each rectangle represents a day of the year. The day with the 
most birthdays is the darkest and is ranked first. The day with the 
fewest is the lightest and ranked last (366th).

b) It is called a heat map because the colour coding is often used 
to represent temperature. In this case the different shading is 
used to represent the rank of data. The darker it is, the more 
often it occurs.

c) Ranking is a problem because you only know the order of the 
data, not its size or how spread out it is.

d) Despite not knowing the actual data, we can see that the 
highest number of birthdays occur in September.

https://www.msn.com/en-us/money/news/how-much-did-americans-spend-on-halloween-in-2019/ar-AAJG3vL
https://www.macrotrends.net/stocks/charts/AAPL/apple/gross-profit
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a) The Canadian teams have their 
logo displayed on a white bar.

b) The team with the fewest North 
Americans would be the team with 
the smallest percentage of 
Canadian and American players.

c) You could argue that hockey is 
Canada's pastime and not that of 
the USA based on the number of 
Canadian­born players in the NHL 
and on each team.

d) It is difficult to determine the 
actual percentage of American­
born players on each team.

e) No, it is not free of bias. Based 
upon the presentation of the 
information it is slanted towards 
Canadian­born players.

Yes. Misleading claims can be made from data that is free 
from bias by displaying the data in a distorted manner.
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You can "lie" with statistics by omitting some of the 
information. Studies can also be based upon faulty studies 
or experiments which will give misleading results.

The company is trying to blame the consumer. Consumers 
should not be misled by the name of the product. They 
should check to see what is actually IN the product.
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